

S73, Pr. 1

$$\overbrace{\neg(a \wedge b) \vee (b \rightarrow c)}^I \leftrightarrow \overbrace{\neg(b \rightarrow c) \wedge c}^{II} \quad E[A] = \{w, F\}$$

a	w	w	w	w	F	F	F	F
b	w	w	F	F	w	w	F	F
c	w	F	w	F	w	F	w	F
$a \wedge b$	w	w	F	F	F	F	F	F
$\neg(a \wedge b)$	F	F	w	w	w	w	w	w
$b \rightarrow c$	w	F	w	w	w	F	w	w
$\neg(a \wedge b) \vee (b \rightarrow c)$	w	F	w	w	w	w	w	w
$\neg(b \rightarrow c)$	F	w	F	F	F	w	F	F
$\neg(b \rightarrow c) \wedge c$	F	F	F	F	F	F	F	F
$I \leftrightarrow II$	F	w	F	F	F	F	F	F

$$2) \quad \overbrace{\neg(a \leftrightarrow b \vee c)}^I \leftrightarrow \overbrace{c \wedge \neg a \rightarrow b}^{II}$$

a	w	w	w	w	F	F	F	F
b	w	w	F	F	w	w	F	F
c	w	F	w	F	w	F	w	F
$b \vee c$	w	w	w	F	w	w	w	F
$a \leftrightarrow b \vee c$	w	w	w	F	F	F	F	w
$\neg()$	F	F	F	w	w	w	w	F
$\neg a$	F	F	F	F	w	w	w	w
$c \wedge \neg a$	F	F	F	F	w	F	w	F
$c \wedge \neg a \rightarrow b$	w	w	w	w	w	w	F	w
$\underline{I} \leftrightarrow \underline{II}$	F	F	F	w	w	w	F	F

$$E[A] = \{ (wFF), (Fww), (FwF) \}$$

$$3) \quad x \rightarrow \neg y \wedge z \leftrightarrow z \vee \neg x \rightarrow y$$

x	w	w	w	w	\neg	\neg	\neg	\neg
y	w	w	F	\neg	w	w	\neg	\neg
z	w	\neg	w	\neg	w	\neg	w	\neg
$\neg y$	F	\neg	w	w	\neg	F	w	w
$\neg y \wedge z$	\neg	\neg	w	\neg	\neg	\neg	w	\neg
$x \rightarrow \neg y \wedge z$	\neg	\neg	w	\neg	w	w	w	w
$\neg x$	\neg	\neg	\neg	\neg	w	w	w	w
$z \vee \neg x$	w	\neg	w	\neg	w	w	w	w
$z \vee \neg x \rightarrow y$	w	w	\neg	w	w	w	\neg	\neg
$I \leftrightarrow II$	\neg	\neg	\neg	\neg	w	w	\neg	\neg

$$E[A] = \{(FwL), (FwF)\}$$

$$A(x; y, z) = \underbrace{(\neg x \rightarrow y) \wedge z}_{I} \rightarrow y \vee z \leftrightarrow \neg x$$

$$\begin{array}{l} \neg x \\ \neg x \rightarrow y \\ A: (\neg x \rightarrow y) \wedge z \\ B: y \vee z \\ I: A \rightarrow B \end{array}$$

$$\begin{array}{l} \neg (b \rightarrow c) \wedge c \\ \neg (\neg b \vee c) \wedge c \\ (\neg \neg b \wedge \neg c) \wedge c \\ (b \wedge \neg c) \wedge c \\ b \wedge (\neg c \wedge c) \\ b \wedge F \\ F \end{array} \left. \begin{array}{l} \} \text{Äq. Formel d.} \\ \text{Substitution} \\ \} \text{de Morgan} \\ \} \text{doppelte Negation} \\ \} \text{asso.} \\ \} \text{komplement} \\ \} \text{Übersicht} \end{array} \right\}$$

$$a \leftrightarrow b \stackrel{?}{\Leftrightarrow} [(a \wedge S) \vee (\neg a \wedge \neg S)]$$

a	b	w	w	\bar{w}	\bar{w}
\bar{w}	w	w	\bar{w}	w	\bar{w}
\bar{w}	\bar{w}	w	\bar{w}	\bar{w}	w
w	w	w	\bar{w}	\bar{w}	w
w	\bar{w}	\bar{w}	\bar{w}	\bar{w}	w
\bar{w}	\bar{w}	w	w	w	w

$$\Rightarrow E[A] = \text{Bool}^2$$

\Downarrow
Tautologie

\Downarrow
Äquivalenz gilt.

$$A(x, y, z) = \bar{T}_2(x, y, z) \rightarrow \bar{T}_1(x, y, z)$$

	x	u	u	u	u	\bar{v}	\bar{v}	\bar{v}	\bar{v}
	y	u	u	\bar{v}	\bar{v}	u	u	\bar{v}	\bar{v}
	z	u	\bar{v}	u	\bar{v}	u	\bar{v}	u	\bar{v}
\bar{T}_2	$y \rightarrow z$	u	\bar{v}	u	u	u	\bar{v}	u	u
	$x \wedge (y \rightarrow z)$	u	\bar{v}	u	u	\bar{v}	\bar{v}	\bar{v}	\bar{v}
\bar{T}_1	$x \wedge y$	u	u	\bar{v}	\bar{v}	\bar{v}	\bar{v}	\bar{v}	\bar{v}
	$x \wedge y \rightarrow z$	u	\bar{v}	u	u	u	u	u	u
	$\bar{T}_2 \rightarrow \bar{T}_1$	u	u	u	u	u	u	u	u

$$E[A] = \text{Bool}^3 \Rightarrow \text{Topologic} = \bar{T}_2 \Rightarrow \bar{T}_1$$